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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B -~ — — —
Thilst 1.00 | 000 ~ 467 5820 | #h st | 000 ~ 0.00( 1.62 8.67 Thilst 100 | 500 ~ 5.00 5820 | #hkust | 500 ~ 500 | 1.62 8.67
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ — — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zhst 1.00 | 000 ~ 585 7317 | #hust | 000 ~ 0.00 | 1.70 9.08 Fhst 100 | 500 ~ 6.61 7317 | #hst | 500 ~ 6.61 | 1.70 9.08
3 100kN/m###8%25%| 1.00| 000 ~ 1.23 118.53 |3m%#A 3 - ~ - - —|[ 100kN/m%#%%| 1.00|11.28 ~ 16.35 11853 |3m%#Ai 5 — ~ — — —
Fhst 1.00| 123 ~ 901 100.00 | #hkist | 000 ~ 9.01| 219 11.73 Fhst 1.00| 500 ~ 11.28 100.00 | #h kst | 500 ~ 1635 2.19 11.73
4 100kN/mi##8%25| 100| 000 ~ 1.02 11528 |3m%#Ai 3 -~ - - —|[ 100kN/mM%#%%| 1.00|11.80 ~ 16.35 11528 |3m%#Ai 3 -~ - - -
Zhst 1.00| 1.02 ~ 880 100.00 | #h kst | 000 ~ 880 | 2.15 11.49 Fhst 1.00| 500 ~ 11.80 100.00 | #h kst | 500 ~ 16.35| 2.15 11.49
5 100kN/m#%#8%2%| 1.00| 000 ~ 084 11254 |3m%#Ai3 -~ - - —|[ 100kN/m%E#8 %% | 1.00 |1250 ~ 16.72 11254 |3m%E#BAi 5 — ~ — — —
Zh st 1.00| 084 ~ 862 100.00 | Zhkist | 000 ~ 862 | 2.11 11.27 Thst 1.00| 500 ~ 1250 100.00 | #h kst | 500 ~ 16.72 | 2.11 11.27
6 100kN/m##8%25| 100| 000 ~ 219 133.99 |3m%#2 3 -~ - - —|[ 100kN/m%E# 25| 1.00 (1053 ~ 19.10 133.99 |3m%#A 3 -~ — — —
Zhst 1.00| 219 ~ 997 100.00 | Zh kst | 000 ~ 997 | 239 12.78 Zhst 1.00| 500 ~ 1053 100.00 | Zh kst | 500 ~ 1910 | 2.39 12.78
. 100kN/mi#%#8%2%| 1.00| 000 ~ 155 123.63 |3m%#Ai3 -~ - - —|[ 100kN/m%E#B %% 1.00 [10.58 ~ 15.70 12363 |3m%E#A 5 -~ - - -
Zhst 1.00| 155 ~ 933 100.00 | ZhList | 000 ~ 933 | 243 13.02 Fhst 1.00| 500 ~ 1058 100.00 | #h kst | 500 ~ 1570 | 2.43 13.02
8 100kN/m# 25| 1.00| 000 ~ 150 122.87 |3m%#Ai3 - ~ - - —|[ 100kN/m%E#B 25| 1.00 [10.54 ~ 1550 12287 |3m%E#BAi3 -~ — — —
Fhst 1.00| 150 ~ 9.29 100.00 | #hkist | 000 ~ 929 | 240 12.84 Fhst 1.00 | 500 ~ 1054 100.00 | #h kst | 500 ~ 1550 | 2.40 12.84
0 100kN/mi%#8%2%| 1.00| 000 ~ 1.70 126.12 |3m%#Ai3 -~ - - —|[ 100kN/m%E#E %% 1.00 [10.72 ~ 17.40 126.12 |3m%#BAi 5 -~ - - -
Zhst 1.00| 1.70 ~ 949 100.00 | ZhList | 000 ~ 949 | 228 12.19 Fhst 1.00 | 500 ~ 10.72 100.00 | #h kst | 500 ~ 1740 | 2.28 12.19
10 100kN/m#%#%5%| 1.00]| 000 ~ 0.60 108.93 |3m%#Z 3 -~ - — —|[ 100kN/mMi%E#EZ2%| 1.00[10.63 ~ 12.30 108.93 |3m%#Z 3 -~ - — —
Thist 1.00 | 060 ~ 8.39 100.00 | Zhkist | 000 ~ 839 | 2.26 12.08 Thilst 1.00 | 500 ~ 10.63 100.00 | Zhkist | 500 ~ 1230 | 2.26 12.08
100kN/mM#%#B % % ~ ImEHBZD ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thilst ~ Thist ~ Thils ~ Thist ~
100kN/mM#%#E % % ~ ImEBZD ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ ImEHBZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ ImEHBZD ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ ImEBZ D ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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